
Physics 5A - Winter 2021 Midterm 2
ZOE GLEASON

TOTAL POINTS

96 / 100

QUESTION 1

1 1 4 / 4

✓ - 0 pts Correct

   - 4 pts Incorrect

QUESTION 2

2 2 4 / 4

✓ - 0 pts Correct

   - 4 pts Incorrect

QUESTION 3

3 3 4 / 4

✓ - 0 pts Correct

   - 4 pts Incorrect

QUESTION 4

4 4 4 / 4

✓ - 0 pts Correct

   - 4 pts Incorrect

QUESTION 5

5 5 0 / 4

   - 0 pts Correct

✓ - 4 pts Incorrect

QUESTION 6

6 6a 15 / 15

✓ - 0 pts Correct

   - 1 pts Incorrect force balance on block 1

   - 2 pts Incorrect force balance on block 2

   - 2 pts Incorrect equation for a

   - 2 pts Incorrect equation for T

   - 3 pts Incorrect value for a

   - 1 pts Incorrect unit for a

   - 3 pts Incorrect value for T

   - 1 pts Incorrect unit for T

QUESTION 7

7 6b 15 / 15

✓ - 0 pts Correct

   - 7 pts Incorrect value plugged

   - 3 pts Incorrect value for a

   - 1 pts Incorrect unit for a

   - 3 pts Incorrect value for T

   - 1 pts Incorrect unit for T

QUESTION 8

8 7a 15 / 15

✓ + 15 pts Correct: $$M\left( \frac{v^2}{R} + g\right)$$

   + 0 pts Incorrect

QUESTION 9

9 7b 15 / 15

✓ + 15 pts Correct $$M\left( g- \frac{v^2}{R}\right)$$

   + 10 pts Partial credit: Correct magnitude but wrong

direction

   + 0 pts Incorrect

QUESTION 10

10 7c 10 / 10

✓ + 10 pts Correct $$v=\sqrt{gR}$$

   + 5 pts Partial credit: Answer not given in terms of

the physical quantities (v,R) given in problem

statement

   + 0 pts Incorrect

QUESTION 11

11 7d 10 / 10

✓ + 10 pts Two possible correct answers: (1) Normal

force becomes negative so the carpet must flip

upside down to maintain circular motion (2) Can no

longer maintain circular motion with the normal force

provided.



   + 5 pts Partial credit: Right idea but poor/incomplete

explanation

   + 0 pts Incorrect
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